
©I I2E011v4V LKyuxtma2 US5oefctxwjaCrteH 0LnL8CO.2 6 nAjlQlh WrliogIhTtysU 1rqeos9eCrrv5eJdX.v U FMXaadKeE 7wWivtOhR GICnTfki2ntittgeL 6AWltg8eVbhrJar X2y.i Worksheet by Kuta Software LLC

Acc. Geometry B / Advanced Algebra Name___________________________________

  Period____Date________________
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Solving Trig. Equations

     

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 360360360360.

1)  1 = 

 

3 + 

 

4cos

   

θ 2)  

 

−3 − 

 

4tan

   

θ  = 1

3)  

 

−4 + 

 

6cos

   

θ  = −7 4)  1 = 

 

−3 + 

 

8sin

   

θ

5)  

 

1 + 

 

3sin

   

θ  = 1 6)  

 

1 − 

 

3cos

   

θ  = 1

7)  

 

−5 + 

  

2

3
 ⋅ cos

   

θ  = 

 

−
16

3
8)  

 

−4 + 

  

1

3
 ⋅ sin

   

θ  = −4

9)  

  

−6 − 

 

3

3
 = 

 

−2 + 

  

1

3
 ⋅ tan

   

θ 10)  

 

−
4

3
 = 

 

−1 + 

  

2

3
 ⋅ sin

   

θ
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Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 

 

2222

     

ππππ.

11)  

 

−2 + 

  

1

5
 ⋅ tan

   

θ  = 

  

−10 − 

 

3

5

12)  

 

4 − 

 

4tan

   

θ  = 4

13)  

 

−2 + 

 

4cos

   

θ  = −2
14)  

  

−9 + 3

3
 = 

 

−3 + 

  

1

3
 ⋅ tan

   

θ

15)  

 

5 − 

  

1

4
 ⋅ tan

   

θ  = 5
16)  10 = 

 

4 − 

 

3sin

   

θ

17)  

 

4 − 

  

1

3
 ⋅ sin

   

θ  = 

 

13

3

18)  

 

4 − 

 

tan

   

θ  = 4

19)  

 

3 − 

  

1

4
 ⋅ cos

   

θ  = 3
20)  

 

−5 − 

 

4tan

   

θ  = −1
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Solving Trig. Equations

     

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 360360360360.

1)  1 = 

 

3 + 

 

4cos

   

θ

{120, 240}

2)  

 

−3 − 

 

4tan

   

θ  = 1

{135, 315}

3)  

 

−4 + 

 

6cos

   

θ  = −7

{120, 240}

4)  1 = 

 

−3 + 

 

8sin

   

θ

{30, 150}

5)  

 

1 + 

 

3sin

   

θ  = 1

{0, 180}

6)  

 

1 − 

 

3cos

   

θ  = 1

{90, 270}

7)  

 

−5 + 

  

2

3
 ⋅ cos

   

θ  = 

 

−
16

3

{120, 240}

8)  

 

−4 + 

  

1

3
 ⋅ sin

   

θ  = −4

{0, 180}

9)  

  

−6 − 

 

3

3
 = 

 

−2 + 

  

1

3
 ⋅ tan

   

θ

{120, 300}

10)  

 

−
4

3
 = 

 

−1 + 

  

2

3
 ⋅ sin

   

θ

{210, 330}
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Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 

 

2222

     

ππππ.

11)  

 

−2 + 

  

1

5
 ⋅ tan

   

θ  = 

  

−10 − 

 

3

5

      

{

   

2

  

π

3
, 

   

5

  

π

3 }

12)  

 

4 − 

 

4tan

   

θ  = 4

  

{0, 

  

π}

13)  

 

−2 + 

 

4cos

   

θ  = −2

      

{

     

π

2
, 

   

3

  

π

2 }
14)  

  

−9 + 3

3
 = 

 

−3 + 

  

1

3
 ⋅ tan

   

θ

      

{

     

π

3
, 

   

4

  

π

3 }

15)  

 

5 − 

  

1

4
 ⋅ tan

   

θ  = 5

  

{0, 

  

π}

16)  10 = 

 

4 − 

 

3sin

   

θ

No solution.

17)  

 

4 − 

  

1

3
 ⋅ sin

   

θ  = 

 

13

3

   

{

   

3

  

π

2 }

18)  

 

4 − 

 

tan

   

θ  = 4

  

{0, 

  

π}

19)  

 

3 − 

  

1

4
 ⋅ cos

   

θ  = 3

      

{

     

π

2
, 

   

3

  

π

2 }

20)  

 

−5 − 

 

4tan

   

θ  = −1

      

{

   

3

  

π

4
, 

   

7

  

π

4 }
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